Mr. Stokes vs. The Canadian Tire Corporation

Your job is to determine if Mr. Stokes has a valid legal case against the Canadian Tire Corporation.  
Recently Mr. Stokes found himself checking out some of the calculations on the Canadian Tire flyer (Because he likes to do math for fun).  He states that he has found some calculation errors made by the aforementioned corporation.  He believes that he has a strong legal case to go after Canadian Tire for false advertising.  He wants your help in deciding if he has a strong case, because if he wins he plans on retiring on a golf course.  
His case is based on the idea that most of Canadian Tires calculations are incorrect.  He does claim that their calculations are correct when they are discounting 10% and 50% off of the original price.  Those involving other percentage amounts off of an item are incorrect.  
Mr. Stokes wants to determine if he has a good legal case and should bring it to his lawyers.  
You will need to test out Mr. Stokes’ theory by checking out six items from the flyer.  They should be different percentages off in order to critically access the accurateness of Canadian Tires flyer.  
Cut out each of the items that you are going to check in order to create a presentation to Mr. Stokes of your calculation and his chances of winning his case.  As part of your presentation you should show the following:
· Show how you calculated what the correct price should be.
· If the price is incorrect, is the price more or less than it should be?
· If the price is incorrect, provide a reason why it might be wrong.
[bookmark: _GoBack]In the end provide a summary (At least one paragraph) of your findings, and an indication of whether or not Mr. Stokes has case.  Provide reasons as to why he does or does not have a good case.  
